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1. Introduction

It was proposed to introduce a description on relationship between “allowable maximum output power” and “BS classes” in [1]. In this document, a basic investigation on the maximum output power is shown, and the maximum output power for the Medium range BS is proposed as the starting-point for the further discussion.

2. Investigation
In the following investigation, the assumptions shown in the table below are used.

Table 1: Assumptions

	Parameter
	Value

	Maximum output power of Wide area BS
	+43 dBm

	ACLR of Wide area BS
	45 dB (5MHz offset) [2]

	MCL between Wide area BS and UE
	70 dB [3]

	MCL between Medium range BS and UE
	53 dB [3]


Figure 1 shows the co-existence model between Wide area BS of Operator A and Wide area BS of Operator B. In this case, the adjacent channel leakage power from the Operator B BS to the Operator A UE will be –72dBm at the UE.
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Figure 1: Co-existence model between Wide area BS and Wide area BS

Figure 2 shows the co-existence model between Wide area BS and Medium range BS. The ACL power from Operator B BS to the UE would also be –72dBm, if the maximum output power of the Medium range BS is +26dBm and the ACLR at 5MHz offset is 45dB.
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Figure 2: Co-existence model between Wide area BS and Medium range BS

Regarding the Medium range BS, any larger maximum output power than +26dBm would increase the interference level at the UE, even though the ACLR is 45dB, which is the same as the requirement for the Wide area BS. Any smaller ACLR than 45dB would also increase the interference, if the maximum output power is +26dBm. Such increases in the interference level means that operation with the Medium range BS would lead the degradation of the downlink capacity in the operation with the Wide area BS.

Therefore, no relaxation for the ACLR requirement for the Medium range BS could be allowed unless maximum output power of Medium range BS is less than +26dBm. On the other hand, the ACLR requirement might be relaxed, if the maximum output power is less than +26dBm.

3. Proposal

Based on the above investigation, the proposed maximum output power, which is allowed for the Medium range BS, is +20dBm as shown in the table below. It may allow to relax the ACLR requirement for the Medium range BS by several dB (at the greatest) with a slight or no degradation of the downlink capacity.

Table 2: Base Station maximum output power

	BS Class
	Maximum output power

	[Wide area BS]
	Not specified

	[Medium range BS]
	+[20] dBm

	[Local area BS]
	+[T.B.D] dBm


4. Conclusion

In this document, the maximum output power for the Medium range BS was proposed as the starting-point for the further discussion. We will need further study on the maximum output power for the Local area BS. Some simulation works would be necessary for the ACLR requirement, too.
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